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CH (&nQ) (abc)
X 6,9 CH 4 c n b
CHQ1) (mm-1,0) CH(@2) (53, 1m-1,0) CH(3) (173, 1t-1,0)
T HCX Ty cost =-13 sint=+/8/3
sing =0, sin2¢p =0, sin3@ =0, cosp=1, cos2p=1, cos3p=1
sin@=48/3, sin26=4/32/9, sin30=-/200/27, cosH=1/3, COS26=-7/9, c0S36 =-23/27
CH(1) sinx=0, sin2x =0, sin3x =0, cos =-1, cos2x =1, cos3x =-1
CHQ) sinx=—/3/2, sin2x=~/3/2, sin3x =0, cosx = 1/2, cos2x =-1/2, cos3y =-1
CHEB) sink=+3/2, sin2x=43/2, sin3x=0, cosx = 1/2, cos2x =-1/2, cos3y =-1
CH ¢ SFG Bz Bae Be
CH Beee = By (xyz)
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B&EZ Brml

CH

Beet CH

Baa= (v2/18)(Besz - 9By + 8Brcd)
Ba= -(+/2 /18)(Bee; - OBy + 8Brco)
Boas™ -(+/2 /18)(Bys; - 9By + 8Bcco)
Bune= -(+/2/18)(Begz - OBy + 8Brzo)
Beea= -(419) (Beez - Bezd)

Beon= ~(49) (Beez - Bezo)

Baca= -(49) (Beez - Brao)

Bocv= -(4/9) (Beez - Bre)

Baze= (1/18)(Bezz + 9By + 8Byz)
Booe=(1/18)(Beez + Bz + 8Brze)
Bew=(1/9)(8Bse; + Przo)

Bizz >> Beer Bong  Beze ~ Bong ~ 0.1 Brge
B = Baa = Beon = Boob ~ (49)Brzz  Bam = -Buba = Baro = -Bran ~ (\/QE/ 9)Byz:

CH,

(xyz)

sin20 = 2sinBcosb,
sin30 = 3sind - 4sin’e,
0038 = 4cos°0 - 3cosh,

Becc

CH

SFG
SFG

Beer = Bong

Byyz
(xyz)
Appl. Soectrosc.
0
sinB cosb

CH

Bbbc Bcu:

CH,

Bz >> Bz B

SFG
SFG

sind sin®@ sin’d

Bac

VIS

Baa: = Bbbc‘,!

Baa: = Bnbc - (4/9) BZZZ Bcu: - (1/9)[3@1

Bac ~ 4Becc

ab

BCCC
Baca = Baow = Brab = ~Pobas

Bcaa = Bcbb = Bara = Bncb

X 6.9

sin@ sin20 sin36

Bnbc

00s20 = cos’0 - sin“B = 20050 - 1 = 1 - 2sin°0
sinB + sin38 = 4(sind - sin’f)
cos - c0s38 = 4(cosh - cos’0)



Bece

ac
X

Bbba Bcaa Baca Babb Bbab

Xip

=@ 0=T-06;, X=T+X;,

Breg >> B

(PPP)

(spp)

(ssp)

(psp)

(Sps)

Brml

CH SFG
B ~ (4/9By  Be ~ (V9PByg

Yoor = (1/4)(Baze - Boc)SIN'B(3c0sX + C0S3))
- B.zSinBoosy
Xzz= (Baze - Bece)(SING - Sin"B)cosy
Xoxe= (Baze - Bocs)(SING - Sin*B)cosy
Xoox = (Baze - Becs)(SING - Sin°B)cosy
- B.zSinBcosy
Yox = “(1/2) (Buze - Becc)(C0 - cOS'B)(1 + c0S2Y)
Xox = “(1/2) Bu - Becs)(C0SB - cOS’B)(1 + c0S2Y)
Xz = “(1/2) Bazs - Bec)(C0S - cOS’B)(1 + c0S2Y)
+ (3,000
Xz = “(Bas - Bc:)COS®
+ [3,c0s0
Xpox = ~(18) Bus - Becr)SIN’B(SiN + Sin3Y)
Xyzz= ~(Bax - Bec)(SING - SIN"B)siny
Xyox = (U/2)(Ba - Boc)(00S0 - cos'B)sin2x
Xz = (U/2)(Bace - Bece)(00SO - cOS’B)si N2

nyx = (1/ 4)(Bam - Bccc)Si n39(005X - COS3X)
- B, SiNBoosy

nyz = '(1/2) (Baa: - Bcc:)(cose - CDS39)(1 - CDSZX)
+ [,cC0S0

Yo = ~(U4) (Bus: - Bewr)SINB(SINY + SIN3X)

Xzyz: '(Baa: - Bccc)(Si no - s nse)Si nx

Xxyz = (1/2)(Baa: - Bcoc)(cose - 00536)Si n2X

Xzyx = (1/2)(Baa: - BCE)(COSG - COSBG)Si n2X

nyy :(1/ 4)(Baac - Bco:)Si n39(003X - COS3X)
Xyzy = '(1/2) (Baac - Bca:)(cose - COSSB)(]- - COSZX)

CH,

Bcbb

(4]

Bbcb

Bae C



(OPS) Yy = (14) (Bax - Becd)SIN'B(SiNX + SIN3Y)
+ B,cSiNBsiny
Xey = “(Baze - Bec) (SINO - sin®)siny
+ B,SinBsiny
Xozy = (1/2)(Bax - Bee)(cOSO - COS39)Si n2x
Xaxy = (1/2)(Bax - Bec)(0S8 - COSB)siN2)

(PSS Xy = (WA)(Bux - Beg)SiN'O(cOSK - COS3X)
Xayy = =(112) (Bacz - Beee)(COSO - cos’0)(1 - cos2y)
(sss) Kyyy = (1/4) (Base - Be)S n39(3Si ny - sin3x)
+ B,cSinBsiny

(upper: (deg, @ mode, lower: (deg, b) mode)

a Ba Ban  Bua b Beoo  Bavo Boab
Bz >>Besr  Bun Bea ~ WP Bun ~ (v32/9)Byyg

OPP) oo = Beal (/4)[-(4sinG - 3sin’B)cosy + sin"Bcos3]
+ (1/4)cos2qf-(2sind - 3sin’@)cosy - (2sind - sin’6)cos3y]
* (1/2)sin2qsinBcost(siny + sin3x)}
+ Bof (1/8)cos3q - 3(cosh - cos’0)cosy + (3cosh + cos’8)cos3y]
+ (1/8)sin3@3sin*@siny - (1 + 3c05°0)sin3Y)
+ (1/8)cosg](cosh + 3c0s°)cosy - (cosh - cos’6)cos3y]
+ (1/8)sing[- (4 - sin°®)sin + sin"@sin3x]}
Xz = Bowd (U2)[ (1 £ cOs2¢)(SiN - 2sin°B)cosy + sin2q( -sinbeosdsiny)] }
+ Boaf (1/2)[ (cos3¢p + cos)(cosh - cos™8)cosy - (sin3 + sing)sin’Bsiny]}
Xo= Beaed (U/2)[ (1 + cOS2¢)(SiNG - 2sin°B)cosy + sin2¢( -sinbcosBsiny)] }
+ Boaf (1/2)[ (cos3¢p + cosp)(cosh - cos™8)cosy - (sin3@ + sing)sin“Gsiny]}
Xon = Bowd (1 £ COS2)(SiNG - 2sin°B)cosy + sin2q( -sinBcosBsiny)] }
+ B (1/2)[ (cos3¢p + cos)(cos - cos’8)cosy + (-sin3¢ + sing)sin’Bsiny]}
Xoo = Bead (1/2)[ 00’0 - (COSB - cos’0)cos2)]
+ (1/2)cos2qf- (cosh - c0s’0) + cos’0cos2y] + (1/4)sin2¢ (1 - 3cos™0)sin2x}
+ Bouf (/4)cos3@-Sin’0 + (2516 - sin’8)cos2y] - (1/2)sin3¢sinBcosbsin2y
+ (1/4)cosg[(2sind - sin’) - sin®6cos2x]}
Xoox = Beaed (1/2)[ 00’0 - (cOSB - c0s’0)cos2)]
+ (1/2)cos2qf- (cosh - 00s’0) + cos’Bcos2y] + (1/4)sin2¢(1 - 3c0s°6)sin2x}
+ Bouf (/4)cos3g-sin’0 + (2sin6 - sin®8)cos2y] - (1/2)sin3¢sinbcosbsin2)
+ (1/4)cosg[(2sind - sin’) - sin®6cos2x]}
Xz = Beaod -(1/2) (1 + 00S2)(c0 - c0S’B)(1 + cos2X)}
+ Bof (1/4)(cos3¢ + cosg)[-Sin°® + (2sin6 - sin’)cos2]
- (1/2)(sin3¢ * sing)sinBcostsin2x}
Xoz = Bes(1 + 00S2¢9)(cOSH - c0S°0)

CH, -€



(spp)

(ssp)

(psp)

+ B..(1/2)(c0s3¢ + cos@)sin®®
Xpo = Beead (U4)[ (2500 - sin®B)sin - sin®8sin3y]
+ (1/4)cos2qf -sin®0sin + (2sin6 - sin’)sin3x] + (1/2)sin2¢sinBcosbcos3y}
+ Bof (1/8)cos3q (cosh - cos™8)siny - (3cosh + cos’8)sin3y]
+(1/8)sin3g [sin“Bcosy - (1 + 3c0s™8)cos3y]
+ (1/8)cosg[- (3cosd + cos’B)sin + (cosh - cos’8)sin3y]
+ (1/8)sing[- (1 + 3c05°0)cosy + sin"Bcos3x]}
Xyzz= Boaed (-1/2) (1 £ cOS2¢)(SINO - 2si n’@)siny + (- 1/2) sin2¢si nBcosBcosy}
+ Boaf (-1/2) (cos3¢p + cosp)(cosh - cos™B)siny - (1/2)(sin3¢ + sing)sin’Bcosy}
Xyox = Beaed (1/2)(00S0 - cOS'B)sin2x
+ (-1/2) c0s2¢o0s’Bsin2) + (1/4)sin2q-sin’® + (1 - 3c05°B)cos2x]}
+ Boaf (-1/4) c0s3@(2sin6 - sin’B)sin2y + (- 1/2) sin3¢si nBcosBcos2y
+ (1/4)cosgsin®®sin2y + (-1/2)singsinBcost}
Xz = Beaad (U2)(1 £ 002)( 000 - 005’0)sin2) + (1/2)sin2¢sin®Bcos2x}
+ Bof (-1/4) (cos3¢ + cosp)(2sin6 - sin’B)sin2y + (-1/2) (sin3g + sing)sinBcosbcos2y}

Yoy = Boaad (1/4)sin®(c0s) - COS3))
+ (-1/4) c0s2@(2sin6 - sin’B)(cosy - cos3y) + (1/2)sin2¢sinBcosd(siny - sin3x)}
+ Bof (-1/8) cos3¢ (cosh - cos’B)cosy + (3cosh + cos’B)cos3]
+ (1/8)sin3¢sin’Bsiny + (1 + 3c0s°0)sin3x]
+ (1/8)cos[- (5c0sH - cos’B)cos + (cosh - cos’0)cos3)]
+ (1/8)sing[(4cos’0 - sin’B)siny - sin’6sin3x]}
Xyyz = Boaed (-1/2) (1 £ cOS2()(COSO - 00s°0)(1 - c0s2x)}
+ Bouf (-1/4) (cos3¢ + cos@)[Sin°0 + (2sind - sin’B)cos2x]
+ (1/2)(sin3¢ + sing)sinBcostsin2x}
Xox = Beaed (UA)[ (2500 - sin®B)sin - sinBsin3y]
+ (1/4)cos2gf-sin°6siny + (2sin® - sin®@)sin3)] * (1/2)sin2¢si nBcosBcos3y}
+ Bf (1/8)cos3q (cosh - cos™8)siny - (3cosh + cos™8)sin3x]
+ (1/8)sin3@sin’Bcosy - (1 + 3c0s8)cos3y]
+ (1/8)cos- (3cosO + cos’B)siny + (cosh - cos™8)sin3x]
+ (1/8)singf- (1 + 3c05°0)cosy + sin"Bcos3x]}
Xayz= Beaad (-1/2) (1 £ 0OS2¢)(SING - 2si n’@)siny + (- 1/2) sin2¢si nBcosBcosy}
+ Boaf (-1/2) (cos3¢p + cos)(cosh - cos™B)siny - (1/2)(sin3¢ + sing)sin’Bcosy}
Xoyz = Beaad (U/2)(1 £ 00S2¢)( 0SB - c0s’B)sin2) + (1/2)sin2¢sin“Bcos2y}
+ Boaf (-1/4) (cos3¢ + cos)(2sind - sin’B)sin2y
- (1/2)(sin3¢ + sing)sinBcosbcos2x}
Xeyx = Beaad (-1/2)[-(00SO - 00S’0) + cos2qros’6]sin2y
+ (1/4)sin2q]-sin’® + (1 - 3c0s°0)cos2x]}
+ Boaf (-1/4) cos3(25i N6 - sin’B)sin2 - (1/2)si n3qsi nBcosBcos2)
+ (1/4)cosgsin®®sin2y + (-1/2)singsinBcost}



(sps) Xy = Bead (-1/4)[(25iN0 - sin°B)cosy + sinBcos3y]
+ (1/4)cos2qfsin’Bcosy + (2sind - sin®0)cos3)] + (- 1/2) sin2¢si nBcosbsin3y}
+ Bouf (-1/8) cos3¢(cosh - cos’B)cosy + (3cosh + cos’B)cos3]
+ (1/8)sin3¢sin’Bsiny + (1 + 3c0s’0)sin3x]
+ (1/8)cosg[(3cosh + cos’B)cosy + (Cosh - cos’0)cos3y]
+ (-1/8)sing[(1 + 3c05°0)siny + sin8sin3x]}
Xyzy = Beaed (U/2)[ (c0S™ + (cOSH - c0s’6)c0s2Y]
+ (-1/2) cos2¢{(cosh - c0s’0) + cos’0cos2y] * (- 1/4)sin2g(1 - 3cos6)sin2x}
+ Bl (-1/4) cos3@sin’® + (2sin6 - sin’B)cos2y] + (1/2)sin3qpsinBoossin2x
+ (1/4)cosg[(2sind - sin’0) + sin®0cos2x]}
(pps) Xoy = Bead (-1/4)SN°B(sinY + sin3y)
* (1/4)cos2¢(2sing - si n39)(si ny + sin3y) * (1/2)sin2¢sinBcosh (cosy + cos3X)}
+ Ba{ (1/8)cos3q(cosh - cos™@)siny - (3cosh + cos’0)sin3y]
+ (U/8)sin3@sin’Bcosy - (1 + 3cos™8)cos3y]
+ (1/8)cosg[(5cos - cos’™)siny + (cosh - cos’6)sin3y]
+ (1/8)singf-(sin’® - 4c0s°0)cosy + sin"Bcos3x]}
Xzzy = Bead -(1 £ COS2Q)(SinG - si n’)siny + sin2¢(-sinBcosbeosy)}
+ Bof (-1/2) (cos3¢p + cos)(cosd - cos’B)siny + (1/2)(-sin3¢ + sing)sin“Bcosy}
Xo = Bead (1/2)(COSB - cos™)sin2x
# (-1/2) c0s2(o0s’Bsin2) + (1/4)sin2qfsin’® + (1 - 3c0s8)cos2x]}
+Bof (-1/4) cos3(2sinB - sin@)sin2x - (1/2)sin3¢sinBcosBcos2y
+ (1/4)cosgsin®®sin2y + (1/2)si ngsinBcosh}
Xey = Beaof (1/2)( 0SB - coS'B)sin2)
+ (-1/2) c0s2¢o0s’Bsin2) + (1/4)sin2qsin’® + (1-3cos’0)cos2y]}
+ Buaf (-1/4) cos3(25iN6 - sin’B)sin2y - (1/2)si n3qsi nBcosBcos2)
+ (1/4)cosgsin®®sin2y + (1/2)si ngsinBcosh}

(pss) Xy = Beead (-1/4)[(25iN0 - sin°B)cosy + sin®Bcos3y]
+ (1/4)cos2qfsin’Bcosy + (2sind - sin®0)cos3y] + (- 1/2) sin2¢si nBcosbsin3y}
+ Bof (-1/8) cos3¢(cosh - cos’B)cosy + (3cosh + cos’B)cos3y]
+ (1/8)sin3¢sin’Bsiny + (1 + 3c0s°0)sin3x]
+ (1/8)cosg[(3cosh + cos’B)cosy + (Cosh - cos’6)cos3y]
+ (-1/8)sing[(1 + 3c05°0)siny + sin"Bsin3x]}
Xayy = Bead (U2)[cOS’ + (cOSO - cos™)cos2y]
+ (-1/2) cos2¢f(cosh - c0s’0) + cos’Bcos2y] + (- 1/4)sin2g(1 - 3cos’8)sin2x}
+ Bouf ((1/4)cos3@sin®® + (2sin6 - sin’B)cos2y] + (1/2)sin3qpsinBoossin2x
+ (1/4)cosg[(2sind - sin0) + sin’0cos2x]}
(sss) Xoyy = Beal (UA)[(4sin - 3sin’B)siny + sin'8sin3x]
+ (1/4)cos2q(2sin6 - 3sin®0)siny - (2sin6 - sin’)sin3x]
+ (1/2)sin2¢sinBcost (cosy - cos3X)}
+ Bof (1/8)cos3@3(cosh - cos’B)siny + (3cosh + cos’6)sin3y]

CH, - €



4b.

(PPP)

(SpP)

(ssp)

(psp)

(sps)

(Pps)

+ (1/8)sin3@3sin“0cosy + (1 + 3c0s°6)cos3y]
+ (- 1/8) cos (cosh + 3c05°0)siny + (cosh - cos’8)sin3x]
+ (-1/8)sing[(4 - sin’®)cosy + sin’Bcos3x]}

torsion © O om

f[ cos(ng)de :f[ sin(ng)dp=0 (n=1,2, 3)

¢ O T
ac Xz
B C X Xip
=@ 6=T-0 X=T+X;,
4.a
B >>Beer Bune Bew ~ 4B Buw ~ (V321 9)By
Xuox = Beaa(1/4)[ - (4sind - 3sin’@)cosy + sin®Bcos3y]

Xeoz= Bea(1/2)(SiNO - 2sin°B)cosy

Xpo= Bo(1/2)(SiNO - 2sin°B)cosy

Xom = Bea(SiNO - sin®@)cosy

Xoo = Bea(1/2)[c0S’0 - (cOSO - cos’0)cos2x]
Xeox = Bew(1/2)[ c0S™® - (cOSP - cos’B)cos2y]
Xo = Beea(COSO - 00S°6)

Xz = Beaal(-1/2) (00O - cos’0)(1 + cos2))
Xy = Beal D[ (25IN0 - sin°B)siny - sin®sin3x]
Xyzz= Beal(-1/2) (SO - 2sin°B)siny

Xyax = Bea(1/2)(COS - c0SB)sin2)

Xz = Bea(1/2)(cOSD - c0s’B)sin2y

Xyyx = Bea(1/4)sin’8(cosy - cos3)

Xyyz = Beaal-1/2) (00O - c0s’0)(1 - cos2))

X = Bea(U/A)[(25iN6 - sin’B)sin - sin’Bsin3y]
Xeyz= Boaal(-1/2)(siN6 - 2sin*B)siny

Xsyz = Bea(1/2) (COSO - coS’0)sin2

Xoyx = Beaa(1/2)(COSD - c0s’B)sin2y

Xyxy = Bcaa(' 1/4) [(29 nod -si nse)cosx +9 n390053X]
Xyzy = Bea(1/2)[ (cos® + (cos - c0s’8)cos2y]
Xxy = Bcaa(' 1/4)S|n39(5| ny + Si n3x)

1
«

CH,



Xezy = Bcaa('Sine + Smae)g nx
Xoy = Bcaa(ll 2)(0059 - wsse)Si n2x
Xozy = Bcaa(]-/ 2)(0056 - COS3e)Si n2x

(pss) Xy = Beaa(- 1/4) [(25inO - sin°@)cosy + sin’Bcos3x]
Xayy = Bea(1/2)[ (COS + (0OSH - cos’6)c0s2)]
(S$) Xyyy = Bcaﬂ(]-/ 4)[ (4S| ne - 3si nse)Si ny + Si n3esi n3x]

[0) @ @+ 213 @+ 413 (= @- 213)

o
>1=3,>sing=Ycosp=>sin2¢=>3coRp=0 >sin3@=3sin3@ > cos3¢p = 3cos3¢

ac Xz ¢ C etilt c
Xip
=@, B6=T-6y, X=T+Xp,

4.a

Bz >>Beer Bung Bew ~ (49Brre  Bum ~ (+/3219)Bye¢

PPP) X = Pea(1/4)[ -(4sind - 3sin’@)cosy + sin°Bcos3y]
+ Bam (U8){ cOS3¢[-3(c0sh - 0c0s’B)cosy + (3cosh + cos™B)cos3y]
+sin3@[3sinBsiny - (1 + 3c05°0)sin3])
Xeoz= Bea(1/2)(siN6 - 2sin°B)cosy
+ Boa(1/2)] cos3¢(cosh - cos’B)cosy - sin3gsin’sin]
Xoxz= Bea(1/2)(siN6 - 2sin’B)cosy
+ B.a(1/2)[ cos3¢(cosh - cos’B)cosy - sin3gsin’siny]
Xox = Besa(SINO - Sin’B)cosy
+ Boa(1/2)[ cos3¢(cosh - cos’B)cosy - sin3gsin’siny]
Xoxx = Beaa(1/2)[ c0S’0 - (c0S - 00S°6)cos2)]
+ B (/4)cos3@-sin’® + (2sin6 - sin’8)cos2y] - (1/2)sin3¢sinBcosdsin2y)}
Xoox = Beaa(1/2)[ c0S™® - (cOSH - c0s’0)cos2y]
+ B (/4)cos3@-sin’0 + (2sin6 - sin’8)cos2y] - (1/2)sin3¢sinBcosbsin2y)}
Xo = Beea(COSO - 00S°6)
+ B.a(1/2)cos3gsin’®
Xz = Beaa(-1/2) (cOSH - cOSB)(1 + c0S2X)]
+ B (/4)cos3@-sin’0 + (2sin6 - sin’B)cos2y] - (1/2)sin3¢sinBcosdsin2y}
SPP) Xy = Bead (UA[(25iN0 - sin°B)sin - sin°Bsin3y]
+ Bof (1/8)cos3q (cosh - cos™@)siny - (3cosh + cos™8)sin3y]

CH, -1C



(ssp)

(psp)

(Sps)

(pps)

(pss)

+ (1/8)sin3@sin’Bcosy - (1 + 3cos™8)cos3x]}
Xyzz= Boal-1/2)(siN6 - 2sin*B)siny
+ Bof (-1/2) cos3¢p(cosh - cos’B)siny - (1/2)si n3gsin“Bcosy}
Xyax = Bea(1/2)(cOSO - c0S’B)sin2)
+ Bl (-1/4) c0S3@(2sin6 - sin’B)sin2y - (1/2)sin3gsinBcosBoos2y}
Xy = Beaa(1/2)(00S0 - c0s™B)sin2y
+ Bof (-1/4) coS3(25iN6 - sin’B)sin2y - (1/2)sin3qsinBcosBcos2y}

Yoy = Beaa(1/4)SinB(c0s) - C0S3))
+ Bouf (-1/8) cos3¢(cosh - cos’8)cosy + (3cosh + cos’B)cos3]
+ (1/8)sin3¢[sin’@siny + (1 + 3c0s?0)sin3X]}
Xyyz = Beaa(-1/2) (c0SO - cos’0)(1 - cos2))
+ B ((1/4) cos3@sin’® + (2sin6 - sin®8)cos2y] + (1/2) sin3qsinBcossin2x}
Xopx = Beeed (U4)[ (25100 - sin®B)sin - sin®8sin3y]
+ Bof (1/8)cos3q (cosh - cos™@)siny + (3cosh + cos’)sin3x]
+ (1/8)sin3@sin’Bcosy + (1 + 3c0s8)cos3x]] }
Xeyz= Boal(-1/2)(siN6 - 2sinB)siny
+ Bau{ (-1/2) cos3@(cosh - cos’0)siny - (1/2)si n3gsin’Boosy}
Xoyz = Bea(1/2) (COSO - coS’B)sin2
+ Bl (-1/4) c0S3@(2siN6 - sin’B)sin2y - (1/2)sin3gsinBcosBoos2y}
Xeyx = Beea(1/2)(0OS0 - c0s™)sin2)
+ Boaf (-1/4) c0S3@(2siN6 - sin’B)sin2y - (1/2)sin3qsinBcosBcos2y}

Xyxy = Beal-U/4)[(25iN6 - sin’B)cosy + sin"Bcos3y]

+ Bau{ (-1/8) cos3¢f(cosB - cos’B)cosy + (3cosH + cos’8)cos3]

+ (1/8)sin3@sin’esiny + (1 + 3c0s’0)sin3]}

Xyzy = Bea(1/2)[ (CO§9 + (cosB - COSBG)COSZX]

+ Buaf (-1/4) cos3¢[sin™0+ (25in6 - sin®B)cos2y] + (1/2)sin3gsinBcossin2y}
Xoy = Bea(-1/4)SiN°6(siny + sin3x)

+ Buxf (1/8)cos3¢{(cost - cos’B)siny - (3cosh + cos™)sin3]

+ (1/8)sin3q@fsin’Bcosy - (1 + 300s°)cos3X]}

Xey = Boal(-SINO + sin*B)siny

+ Bau{ (-1/2) cos3@(cosh - cos’@)siny - (1/2)si n3gsin’Boosy}
Xoy = Bea(1/2) (cOSO - cos’0)sin2

+ Boaf (-1/4) cos3(2sinG - sin@)sin2y - (1/2)sin3¢sinBoosBcos2y}
Xszy = Beea(1/2) (COSO - cOS’B)sin2

+ Bl (-1/4) cos3¢(2sin8 - sin®@)sin2y - (1/2)sin3gsinBoosBoos2x}

Xy = Beea(-1/4) [(25iN0 - sin®@)cosy + sin’Boos3x]

+ Ba{ (-1/8) cos3¢{(cosh - cos’)cosy + (3cosh + cos’B)cos3y]
+ (1/8)sin3@sin’Bsiny - (1 + 3cos’6)sin3x]}

CH;, -1



ba

Xayy = Bea(1/2)[ 008’ + (cOS - cos’6)c0s2)]
+ B.of (-1/4) cos3@sin®® + (2sin6 - sin’B)cos2y] + (1/2)sin3¢sinBcosBsin2y}
(sss) Xpyy = Bea( A (4SiN6 - 3sin’B)siny + sin°Gsin3x]
+ Bof (1/8)cos3@3(cosh - cos’B)siny - (3cosh + cos’0)sin3y]
+ (1/8)sin3@3sin’Bcosy + (1 + 3c05°0)cos3x]}

(0] @+ 23 @+ 43 (= @- 21'3)

>1=2, Ysing=-sing, >0OSP=-00SP, >SIN2Q=-Sin2Q, >CcoLP=-cos2q,
>sin3@=2sin3p, > cos3¢ = 2c0s3¢p

(0] 4a
4a
4c
SFG
X & Xz ¢® C
B C X Xip Xip
=@ B6=T-6;, X=T+Xp
X
Cs
SFG
S |_B I
X 5d
director
C. SFG
(spp) (Psp) (pps)  (ss9)
(spp) (pPsp) (pps) (ss9)
H 4c
SFG

CH, -1z
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5a

SFG
X 0

Jjn cos(ny)dx :Jjnsin(nx)dx =0(n=1,273)

Xz @ c

Xip

=@, B=T-6y, X=T+X,

(PPP)

(spp)

(ssp)
(psp)

(sps)
(pps)

(pss)
(sss)

(PPP)

(SPP)

(ssp)
(psp)

(Sps)
(Pps)

BZZZ >> BEEZ* Brml Bacc ~ (4/ 9)811&: Bec ~ (1/9)[3111

Ysax = (12) (Bass - Bec)(0OSO - c056)

Yoz = (12) Bas - Bocc) (0SB - 00S’6) + B, COSH
Xoxx = (112) (Bass - Becc)(0OSB - 0056)

Yoz = - (Buz - Be)COS™0 + B COSH

(none)

nyz = '(1/2) (Baa: - Bccx:)(cose - COSSG) + Baa:cose
(none)

Xyzy = '(1/2) (Baac - Bca:)(cose - 00836)
(none)

Xzyy = '(1/2) (Baa: - Bcc:)(cose - CDS39)
(none)

Bz >> Bz Boc Bew ~ @By B ~ (V321 9By

Xoox = Beaa(1/2)c0S°0 - B.(1/4)cos3¢sin®®

Xeox = Beaa(1/2)c0S™0 - B,a(1/4)c0s3sin’0

Xz = Beaal-1/2) (C0SB - 00S°0) - B,(1/4)cos3¢sin’e
X = Bex(COSO - 005°0) + B,.(1/2)cos3psin’e
(none)

Xyyz = Beaa(-1/2) (0SB - cOS’6) - B,(1/4)cOS3¢sin’®

(none)

Xyzy = Bcaﬂ(]-/ 2)00539 - Baéa(ll 4)C0$3([Bi n3e
(none)

CH, -1z
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(pss)
(sss)

5 C,,

Xayy = Beea(1/2)c0S’0 - B.(1/4)cOS3¢sin’0

(none)

SFG
X

X X+ 23 X+ 4wW3(=x-2m3)

>1=3, Ysinx=>cosx =>sin2x =YcoXx =0,

4b

©) tilt

=@, B6=T- 0y,

(PPP)

(spp)

(ssp)

(psp)

(Sps)

(Pps)

(pss)

(b)
90°

XZ

Bee >> Beers Brig

Xooxx = (1/4)( Baa: - ch)Si n39m33X

Xip

X=T+ Xip

Bax ~ (419)Byezs

Xxzx = '(1/2) (Baac - Bco:)(cose - 00536)
Xaxx = '(1/2) (Baa: - Bcc:)(cose - CDS39)
Xoxz = '(1/2) (Baa: - Bccx:)(cose - COSSG) + Baa:cose

Xez = '(Baac - Bccc)cosse + Baa:cose
nyx = '( 1/4) (Baac -

nyx = '( 1/4) (Baa: -
nyz = '(1/2) (Baac -
Xxyx = '(1/4) (Baa: -

nyy = '( 1/4) (Baa: -
Xyzy = '( 1/2) (Baac -
Xxxy = '( 1/4) (Baa: -

Xzyy = '( 1/2) (Baac -
Xxyy = '(1/4) (Baac -
nyy = (1/4)(Baa: - Bccc)si n395i n3X

B...)SiN’Bsin3x

Beq.)SiNBC0S3Y

>sin3x = 3sin3y,

@

> cosy = 300S3x

(spp) (psp) (psp) (pss)

(spp) (psp) (pps) (sss)

Bew)(COSH - 00S') + B COSH

B...)SiN’BsiN3x

B...)SiN°BcoS3)

Bec)(00SH - 00S’6)

B...)SiN’BsiN3x

Bec)(00S8 - 00S’6)

Bee.)SiN°BCOS3Y

CH,
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Bie C

(spp)  (psp) (Pps) (sps) (pss) (ss9)

B ~ (1/9)[3111



(PpP)

(SPP)  Xyo = Bead (-1/4)SN°BSiN3Y - B.o(1/8)[ cOS3@(3c0SH + cos’B)sin3y + sin3@(1 + 3c0s°6)cos3x]
(SP)  Xyyx = Bea(-1/4)SIN°000S3X - B,(1/8)[ cos3@(3c0s + cos’0)cos3) - sin3g(1 + 3c0s0)sin3x]
Xyyz = Beaal-1/2) (c0SH - c0S’6) - B,(L/4)cos3gsin’®
(PSP)  Xogx = Bead (-1/4)SN°BSiN3X - B.(1/8)[ cOS3@(3c0SH + cos’B)sin3y + sin3@(1 + 3c0s°6)cos3x]
(SP9) Xy = Bea(-1/4)SIN°000S3X - B,(1/8)[ cos3@(3c0s + cos’0)cos3) - sin3g(1 + 3c0s0)sin3x]
Xyzy = Bea(1/2)c0S’0 - B,,(1/4)cos3¢sin’®
(PPS) Xy = Bead (-1/4)SN’0SiN3X - Bo(1/8)[ cos3@(3cosh + cos’B)sin3y + sin3¢(1 + 3c0s°6)cos3y]
(PSS) Xy = Bea(-1/4)SIN°000S3X - B,(1/8)[ cos3@(3c0s + cos’B)cos3) - sin3g(1 + 3c0s0)sin3x]
Xayy = Bean(1/2)c0S’0 - B,,(1/4)cos3¢sin’®
(SS9 Xy = Bea(UA)siN°0sin3X + Bux{ (1/8)[ cos3¢(3cosh + cos’B)sin3y + sin3@(1 + 3cos’6)cos3y]
5¢ C, Ce SFG
Ssiny = Ycosy = Ysin2x = YcoRx = >sin3x = Ycosx =0 5a
5d C, SFG
LB
\Y;
+B B X
a le a+ B a- B
Xy ® C By C X
Xip (p = (py
B=1-6y, X=T+Xp
siny = -Sink;p, COoSX = -COSY;,
SiN2X = Sin2Xi,, 00S2) = COS2X,
sin3x = -sin3;y, 00s3) = -C0S3X;,
X
4a
>1=2, 2 sinx;,= 2sinacosp, 2 COSY;, = 200S0100Sp,

Beze >> Beets Bung Bew ~ (4Brczs  Bam ~ (4V2/9)Byy,
Xeox = Beaa(1/4)sin®0c0s3) + B.(1/8)[ c0s3¢(3c0sh + cos’0)cos3y - sin3@(1 + 3cos8)sin3x]
Xoxx = Beaa(1/2)c0S™0 - B,(1/4)cos3¢sin’®
Xoox = Beca(1/2)c0S°0 - B.(1/4)cos3¢sin’®
Xixz = Peaal-1/2) (0SB - 00S°0) - B,.(1/4)cos3¢sin’®
Yoz = Beaa(-1/2) (c0SB - 008’0) + B,(1/4)cos3psin’®

CH, - 15



2 Sin2x;, = 2sin2000s2B, 3 CO2x;, = 2c0S201C0S23,
Ysin3x, = 2sin30c0s3B, > cos3y;, = 200s30100S3B

B=0 SFG
(spp) (psp) (Pps) (sss)
(spp) (psp) (pps) (sss)

5e C, SFG

X Xip

©=@ B=m-6; X=T+X,
>1=2 >sin=0 Jcosx=0 3sin2x=2sin2x cox =2c0s2x >sSin3x=0 >cox3x=0

Brez >> Beses Bone B ~ (4Brcs  Bew ~ (1/9)Bry:
OPP)  Xxex = ~(1/2) (Baxc - Becc)(COSH - cOS™B)(1 + cOS2))
Xaxx = “(1/2) Bazz - Becc)(C0S - cOS'B)(1 + c0S2Y)
Yoe = “(1/2) Buzs - Bec)(C0SB - c0S°B)(1 + €0S2X) + B.COSH
Xez = - Baz - Pes)COS'O + B,.0080

(Spp) Xyzx = (1/2)(Baa: - Bcu:)(cose - cos3G)Si n2X
nyz = (1/2)(Baa: - Bccc)(wse - COSBG)Si n2X

(Ssp) nyz = '(1/2) (Baa: - Bcc:)(cose - CDS39)(1 - CDSZX) + Baa:cose
(pSp) Xxyz = (1/2)(Baa: - BCCC)(COSG - COSse)Si n2X
Xeyx = (U2)(Baes - Becc)(0OSB - COSB)sin2X

(SpS) Xyzy = '( 1/2) (Baac - Bca:)(cose - COSSB)(]- - COSZX)
(ppS) szy = (1/2)(Baa: - BCCC)(COSG - COSse)Si n2X
Xery = (U2)(Bass - Becc)(0OSB - COSB)Sin2X

(PSS Xayy = -(1/2) Bz - Bece)(00SO - 0OS™B)(1 - 00S2X)
(sss) (none)

BZZZ >> BZEZ Brml Bea ~ (4/9)Bzzz Baa ~ (\/3’_2/ 9)[31(1
(OPP)  Yoxc = Bea(1/2)[c0S™O - (COSH - cOS’B)c0S2Y]

+ B (/4)cos3@-sin’® + (2sin6 - sin’8)cos2y] - (1/2)sin3¢sinBcosbsin2y)}
Xozx = Bcaa(]-/ 2)[00536 b (COSG - COSSG)COSZX]

CH, - 1€



(Spp) Xyzx = Bcaa(ll 2)(0056 - wsse)Si n2X
+ Bof (-1/4) cos3(2sin6 - sin’B)sin2y - (1/2)si n3gsi nBcosBcos2))}
Xyxz = Bcaa(]-/ 2)(0056 - COSBG)Si nZX
+ Bl (-1/4) c0s3@(2sin6 - sin’B)sin2y - (1/2)si n3gsi nBcosBoos2))}
(Ssp) nyz = Bcaﬂ(' 1/2) (COSG - 00336)(1—0052)()
+ Bl (-1/4)cos3@sin’® + (2sin6 - sin’8)cos2y] + (1/2)sin3¢sinBoosdsin2y}
(psp) Yoz = Boaa(1/2)(C0SO - cos’B)sin2y
+ Bouf (-1/4) cos3(25in6 - sin’B)sin2y - (1/2)sin3qsinBcosBcos2y}
Xzyx = Bcaa(ll 2)(0059 - COSge)Si nZX
+ Bl (-1/4) c0S3@(2sin6 - sin’B)sin2y - (1/2)sin3gsinBcosBoos2y}
(sps) Xyzy = Boa(1/2)[ (COS + (coS - cosB)cos2]
+ Bl ((1/4)cos3@sin’® + (2sin6 - sin8)cos2y] + (1/2)sin3¢sinBoosdsin2y}
(ppS) szy = Bca(]-/ 2)(0059 - COSSS)Si ”ZX
+ Bouf (-1/4) cos3(25iN6 - sin’B)sin2y - (1/2)sin3qsinBcosBcos2y}
szy = Bcaa(ll 2)(0059 - COSge)Si nZX
+ Baa{ (-1/4)coS3@(2siNG - Si nse)si n2x - (1/2)sin3¢sinBcosBcos2y}
(pss) Xayy = Bea(1/2)[ (cOS® + (cOS - cosB)cos2]
+ Bl ((1/4)cos3@sin’® + (2sin6 - sin’8)cos2y] + (1/2)sin3¢sinBcosdsin2y}
(ss9) (none)
SFG
SFG P(0) E%w,) E” (w9
E%w,) E” (w9
Ps) = zk X SFiJ'kEj @.is)Ex @)
I
i k SFG vis ir
(i,j,k=x,y,2) 8, EY p s
g0 = E“)p+ E(i)s Xy z
Ex(i) - E“’pcosei, Ey(i) - E(i)sr EZ‘”= -E‘”psi né,

+ B (1/4)cos3¢@-sin’® + (2sin6 - sin’8)cos2y] - (1/2)sin3¢sinBcosdsin2y)}
X = Bew(- 12)[(cOSB - c0s™) + (cosh - cos’8)cos2y]

+ B (/4)cos3@-sin’0 + (2sin6 - sin’8)cos2y] - (1/2)sin3¢sinBcosdsin2y)}
Xy = Box(COSO - 0OS’0)

+ B..(1/2)cos3¢sin’®

E (0]

CH, - 17
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E”=-E%0s8, E"=E"% E"=-E"sn6

E(r) E(i)
(n _ nicosB; —n, cosh,
n, cosB; + n,cosb,

(i)
E" E

n n 8
E (surf) _ 2n1 Cosel COSGt E 0
X - p
n, cos; + n, coso,
Ey(surf) - 2n COSGi Es(i)
n, cosB; + n, cosB,
£, = — 2n, coP; sinb, (nll?z)zEp(i)
n, cosd; +n, cosB, * n
(6.50) n SFG
(6.1)
7 SFG SFG
SFG E%(s)
E% ()
Pwg)

Q) W
Wg) =41 ——
= ) c n cosB; +n,cosb,

n .
“ g P, (&) cosb, —(??)ZPZ((A)SF)smet
EWwe)=—4n—
c n,cosd; + n, coso,

Pws)

(1) _ . W y W

E'’ Wg) =41 —

(o) = 4m C n cosB; +n,cosb,

P, () coSH, +(%)z P4 )sind,

. Wg
E“wg)=-4m —=
- O) c n, cos,; + n, coso,

L
Es(r)(wsz): Lsy(r)Py(wS:)! Ep(r)(wsz): Lp,x(r)Px(wS:)+Lp,z(r)Pz(wS:)
Es(t)(wsi): Lsy(t)Py(wSF)1 Ep(t)((*)SF): Lp,x(t)Px(wSF)"'Lp,z(t)Pz(wSF)
. W 1

M = 4
= —Ami
- C n cosh; +n,cosb,

. W cosO
L") =—4n —= t
C n,cosB; +n coP,

(1) — N, c0S6; —n, CosB, EO
n,cos8; +n cosd, °

(6.3)

(6.4)

g

(6.58)

(6.5b)

(6.50)

(6.5)

SFG

(7.19)

(7.1b)

(7.29)

(7.2b)

(7.39)
(7.3b)

(7.49)

(7.4b)



n
2\2 H
o g (W) P,(wg)sing,
L,, ' =4m——
C n, cosB; +n, cosB,

1
0 = g L

Lsy c n cosB; +n,cosh,

W cosB;

L, =-4n —= '
P C n,cosB; +n cosd,

Ny ;

We (F) P,(wg)sing,

L, = —an —=
Pz Cc n,cosB; +n, cos9,

(7.1b) (7.4b)

CH,
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(7.40)

(7.59)

(7.5b)

(7.5¢)



